4) {£36} Algebra T
6) {£9.2} pg. 393
8) {+7/4}

10) {23/4,-13/4}
12) {-6,-10}
14) {22, -6}

16) {7,-5}

18) {1,-13/3}
20) {0, -2/5}
22) Should be @
24) @

26) @

28) {-5,-10}
30) @

32) D

12 [aez]| =2 %) Hlb—ll—'?';'ﬂ"

@ = *2 - = 2
% L3 e _Hj

%4-9-3:-8#1 Y
R= ~6,-/0 Jo-1l = ¢
b=l = +6
&-¢-1e8 bo-tei=ltg

h= Tor =5

§7.-53

18> 42+5)+1 = (5
1}3,"5}-"-' = (S—/

7£[ 2 xws)= ]

l'!u-c-S, R

- 3)+S =*Q
i "3 4;15-’5:-54_-3

ye3

J=1| e '%

2D -5|gwec)-z0

[fee)=2
*wo 6 =2
B—QQ.“‘ '-‘tl

Soay | CFor -0V

u:'Sor-—IO

30> 2| 3s-5)+3-8
-2 |§s-5)+33°8
-2];: 5, -S

, S= S)ﬂ’-i
%]




